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∀x∃y(P(x) → R(y,x))   /   ∀x(P(x) → ∃yR(y,x)) 

2η άσκηση 

1. ∀x∃y(P(x) → R(y,x))   (Υπόθεση) 
2. Υποπαραγωγή 

2.1. P(a)   (Υπόθεση υποπαραγωγής) 
2.2. ∃y(P(a) → R(y,a))   (από (1) με απαλοιφή ∀ και a/x) 
2.3. Υποπαραγωγή 

2.3.1. P(a) → R(b,a)   (Υπόθεση υποπαραγωγής) 
2.3.2. P(a)   (από (2.1) με επανάληψη) 
2.3.3. R(b,a)   (από (2.3.1),(2.3.2) με απαλοιφή →) 

2.3.4. ∃yR(y,a)   (από (2.3.3) με εισαγωγή ∃ και b/y) 

2.4. ∃yR(y,a)   (από (2.2),(2.3) με απαλοιφή ∃) 

3. P(a) → ∃yR(y,a) (από (2) με εισαγωγή συνεπαγωγής) 
4. ∀x(P(x) → ∃yR(y,x))   (από (3) με εισαγωγή ∀ και x/a)   

 

{ ∃x(P(x) ᴧ Q(x)),  ∀x(Q(x) → R(x)) }   /   ∃x(P(x) ᴧ R(x))  

3η άσκηση 

1. ∃x(P(x) ᴧ Q(x))   (Υπόθεση) 
2. ∀x(Q(x) → R(x))   (Υπόθεση) 
3. Υποπαραγωγή 

3.1. (P(a) ᴧ Q(a))   (Υπόθεση υποπαραγωγής) 
3.2. P(a)   (από (3.1) με απαλοιφή ᴧ αριστερά) 
3.3. Q(a)   (από (3.1) με απαλοιφή ᴧ δεξιά) 
3.4. Q(a) → R(a)   (από (2) με απαλοιφή ∀ και a/x) 
3.5. R(a)   (από (3.3),(3.4) με απαλοιφή →) 
3.6. (P(a) ᴧ R(a))   (από (3.2)(3.5) με εισαγωγή ᴧ) 

3.7. ∃x(P(x) ᴧ R(x))   (από (3.6) με εισαγωγή ∃ και x/a) 

4. ∃x(P(x) ᴧ R(x))   (από (1),(3) με απαλοιφή ∃) 

∃xP(x) → Q(a)   /   ∀x(P(x) → Q(a)) 

4η άσκηση 

1. ∃xP(x) → Q(a) 
2. Υποπαραγωγή 

2.1. P(b)   (Υπόθεση υποπαραγωγής) 
2.2. ∃x(P(x)   (από (2.1) με εισαγωγή ∃ και x/b) 
2.3. Q(a)   (από (1), (2.2) με απαλοιφή →) 

3. P(b) → Q(a)   (από (2) με εισαγωγή →) 

4. ∀x(P(x) → Q(a))   (από (3) με εισαγωγή ∀ και x/b) 


